[ Efficiency vs vertpos |
~ 0.05

9.045
4
20.04
(8]
$.035
[
£0.03
0.025
0.02

MRS Y LM LS LA LR LR LRRY LRLLY RRRR

0.015F:- |
0.04 I
0.005
o Rt
g
nd
il o = S S S R PO IO [

0.95
1072

107 1 2

10 0
TP vertr (cr%)

—=— DQM_mkFit_TT_retrain-lowpt

Efficiend

—— DQM_mkFit_TTold-lowpt

~ 0.02[
$.018
016
014
012
0.01
0.008
0.006

EHHCIRRCY S 8T

........................

............

............

0.004F

0.002F--+--eee P B L
R U B S U S 4
o S R L1 TR A S
24 E : i :[

) S S ’ -----------
°85 =20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.05

> F
D(_J.045:—
e o
:,—)0.045—
$.035F
3 E

20.03F
Q

2.025F
[0 E
0.02f
0.015f
0.0
0.005E-
.aF

Ratio

1.05

1
0.95F-

0.9E

%0 =15 -10

Sim. PV z (cm)



	Contents
	Page 1


